o
[N

o
N

< 00, > (M)

<opyp, > ()

<o @> (rad)
o
=
a1

|
o
s8]

107 1

100p

A OO @
o O O
1

20}

......................................

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

x10~°

o
TIT T[T I T [ TI T[T [ TT T[T T T TrTI[TTT

0.950
107

1

2 3
TPlpoT (PCA t%obeamlinélf)

—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__ all2

—s=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN2

1071 1

1071 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

—~

<od,> (um

RatioI

100p

A OO @
o O O

0.954
10

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


